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OUT IN GROSS | HDCP | NET
9H3H W5 A s 39 40 79 6 73
WHE & 27 Bprp ik 44 42 86 9 7
PHI—Z 37 Ik iz 40 43 83 5 78
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9H5H =215 Ho —mk 40 44 84 12 72
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9H15H = Ny bR 40 41 81 16 65
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9H15H 125 wgill &1 45 41 86 12 74
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TOB&GE: 271 e A 37 40 77 9 68
Ha—Z 3pr AN = 44 45 89 20 69
OUT IN GROSS | HDCP | NET
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255 WH 5 76 124 200 20 180
24 el 85 87 40 275  184.5
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=5 [ANE] 75 85 160 14 146
2061 Je )% 87 85 172 24 148
3Hr RE A= 81 85 166 18 148
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205 2H W 38 38 76 8 68
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3L WS % — 40 43 83 12 71
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82105 B 1 SCOR 44 39 83 19 64
247 IR I 43 49 92 28 64
3L Ph i ) 39 39 78 13 65
OUT IN GROSS | HDCP | NET
205 SN M1 57 54 111 38 73
21 Yk LivE 50 54 104 31 73
3Hr R FHHE 46 51 97 24 73




